Maths questions TEST 1

345 - 60 = 2.7+3.014= 50+ (36 +6)=

Fx2= 2,345 1,000 =

1,5

°3*% 7% 0of500= 581 -7=
TEST 2 !3 Emma makes a cuboid using 12 cubes.

n Each shape stands for a number. @

A
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A

Write the letter of the cuboid that has a different volume from
Emma’s cuboid.

Total
96
B
Work out the value of each shape.
c
A

This is her change. 2 6

What Is the cost of one packet of nuts?



Reading questions

In the paragraph beginning: Mind made up... Gaby says to the cat,

You’re out of luck...’

In what way does Gaby think the cat is out of luck?

She resettled on the branch, considering her options.

What does considering her options mean in this sentence?

Tick one.
thinking about what to do I:]
changing her mind D

looking at it from the cat’s point of view |:|

wishing her mother was there D

Look at page 9.

How is the whale made to seem mysterious?

Explain two ways, giving evidence from the text to support your answer.

SPAG questions

Circle the object in the sentence below.

My friend bought a cake from the bakery.

Tick one box in each row to show if the sentence is in the present
progressive or the past progressive.

Present Past

Sentence progressive | progressive

Joey was playing football in the park
after school.

Joey's football skills are improving
all the time.

Joey is hoping to be a professional
footballer.

Which sentence uses the colon correctly?

Tick one.
| bought several beach toys a bucket: a spade a ball D
and a kite.

| bought several beach toys a: bucket, a spade, a ball D
and a kite.

| bought several beach toys: a bucket, a spade, a ball D
and a kite.

| bought several: beach toys, a bucket, a spade, a ball D
and a kite,

Write a sentence using the word peint as a verb.
Do not change the word.
Remember to punctuate your sentence correctly.

Write a sentence using the word point as a noun.
Do not change the word.
Remember to punctuate your sentence correctly.




